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PART A: Grammar

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then, mark the
correct choice on your answer sheet.

72 1- The rate that bright comets enter the solar system implies there should be around 3000 of them

buzzing around, ......... only 25 are known.
1) nonetheless 2) regardless of the fact 3) and yet 4) as there are

2. 2- Contemporary theories of interpretation require that, in our analyses of texts, we consider not only

what the text says ......... “made.”
1) also its meaning gets and 2) but also gets the meaning of it
3) but its meaning also gets 4) but how its meaning gets
T 3 e individual behavior is influenced by social networks is beyond dispute.
1) That 2) An 3) The 4) It is that

72 4- Plant scientists have been trying for years to genetically modify flowers for aesthetic purposes. The

first to go on sale were blue carnations ......... in Australia, in 1996.

1) were produced 2) produced 3) had been produced 4) to produce
72 5- Weapons have been carried and delivered by a wide variety of vehicles, ... weapon
platforms.

1) they are often called 2) often called 3) called they are often 4) that are called often
72 6- Articulating what the difference between humans and other creatures consists of ......... behind it

have formed a large and difficult project tackled by biologists, anthropologists, psychologists, and
philosophers.

1) uncovering the biology 2) the biology of uncovering
3) the biology uncovering 4) and uncovering the biology
72 7- Most healthcare professionals view depression as “just part of getting old and argue that this illness, ......... ,

can have serious, even fatal consequences.
1) untreated then 2) untreated whether it is 3) if untreated 4) that is untreated

72 8- Ted had a terrible habit of boasting so much about his smallest accomplishments ......... his vainglory

became renowned throughout the small college campus.
1) that 2) as 3) in that 4) as though
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PART B: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then, mark the
correct choice on your answer sheet.

72 9- Dogs growl and show their teeth in an attempt to frighten the animal or person they perceive as

1) habitat 2) prey 3) suspicion 4) threat

72 10- Based on his recent poor decisions, it was obvious that Seth lacked even a modicum of good .........

1) sentiment 2) sense 3) sensation 4) sensitivity
72 11- The judge ......... the extraneous evidence because it was not pertinent to the trial.
1) disclosed 2) distended 3) dismissed 4) distorted

72 12- The more frequently employees take time to exercise during working hours each week, the fewer sick

days they .........
1) expend 2) save 3) take 4) recall
72 13- Classic psychology experiments have shown that when rats are first .......... with an electrical shock to

fear a tone when it sounds, they later fear the tone even without the associated shock.
1) conditioned 2) sparkled 3) displayed 4) intended

72 14- In 1998 Gordon Sinclair, the owner of a well-known restaurant, was struggling with a problem that .........

all restaurateurs. Patrons frequently reserve a table but, without notice, fail to appear.

1) delegates 2) afflicts 3) intensifies 4) evades
72 15- Despite what the scientist said, the volcano eruption is not ......... , S0 do not be concerned!
1) impassive 2) negotiable 3) vulnerable 4) imminent
72 16- At the landfill, the ......... process is in full swing, turning much of the garbage into gasses.
1) conversion 2) restoration 3) decomposition 4) pressurization
72 17- Because | am an extreme planner who needs to control everything, | never engage in ......... :
1) justification 2) pretention 3) coincidence 4) spontaneity
72 18- The roads in our town already have too much traffic; building a new shopping mall will ......... the
problem.
1) frustrate 2) exacerbate 3) preserve 4) exploit

72 19- The movie Close Encounters of the Third Kind tells the story of the first contact between beings from

outer space and .......... creatures, that is, those living on earth.
1) terrestrial 2) dominant 3) ingenious 4) affable
72 20- There is v agreement that an airport is needed; no one disputes that, but there is fundamental

disagreement about where to build it.
1) uniform 2) utilitarian 3) unique 4) unanimous
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PART A: Grammar

Directions: Select the answer choice (1), (2), (3), or (4) that best completes the blank. Then mark the correct
choice on your answer sheet.

72 1- Nonverbal thinking, ......... in engineering design, involves perceptions, the stock-in-trade of the
artist, not the scientist.

1) being central mechanism 2) a central mechanism

3) that is central mechanism 4) is mechanism central

72 2- When the work was completed, many moved to other construction jobs or to factory work in cities

and towns, ......... they became part of an expanding working class.
1) where 2) thereby 3) thus 4) there
TR 3 eeeeenes , why did people in the thirteenth century move into these closely packed quarters?

1) By giving all the disadvantages of living in aggregated towns
2) All the disadvantages of living in aggregated towns given

3) Given all the disadvantages of living in aggregated towns

4) Living in aggregated towns given all the disadvantages

72 4- Autism is considered a neurological and genetic life-long disorder that causes discrepancies in the way

1) is processed information 2) of information processed

3) processed information 4) information is processed
72 5- Not until the eighteenth century, however, ......... the Bank of Amsterdam and the Bank of England
begin to provide capital for business investment.

1) such banks as did 2) banks such as did

3) did such banks as 4) banks did such as
B 6- eeneeeee. around 8000 B.C.E., the most extensive exploitation of agriculture occurred in river valleys,
where there were both good soil and a dependable water supply regardless of the amount of rainfall.

1) Starting 2) To be started 3) Started 4) To started
72 7- A rotary engine attached to the steam engine enabled shafts to be turned and machines to be driven,
......... steam power to spin and weave cotton.

1) and resulted in mills they used 2) by mills resulting in using

3) that resulted in mills to use 4) resulting in mills using

72 8- This simple memorizing of individual items and procedures—known as rote learning—is relatively

easy to implement on a computer. ......... implementing what is called generalization.
1) The problem is more challenging than is 2) More challenging is the problem of
3) The problem more challenging than 4) The more challenging problem of
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PART B: Vocabulary
Directions: Select the answer choice (1), (2), (3), or (4) that best completes the blank. Then mark the correct
choice on your answer sheet.

72 9- The past is ......... . It is gone and will never, ever come back, no matter what you do, no matter how

much you cry.
1) irrevocable 2) unsurpassable 3) inevitable 4) unreliable

72 10- The resort’s marketing campaign was so broad that it attracted not only the wealthy but also those

of limited .......... :
1) zeal 2) means 3) rudiments 4) appeal
72 11- This engine is the last .......... of a once great car manufacturer of the early 20th century.
1) uproar 2) proximity 3) tyro 4) vestige
72 12- He’s a very .......... young actor who’s as happy in highbrow dramas as he is in TV comedies.
1) versatile 2) capricious 3) divisive 4) malleable
72 13- The treaty was formally .......... this afternoon and will pass into law once signed by the Prime

Minister later tonight.

1) nominated 2) pledged 3) released 4) ratified
72 14- | can’t explain how I knew—I just had an .......... that you’d been involved in an accident.
1) idiosyncrasy 2) intuition 3) attribution 4) ambiguity
72 15- Vehicles .......... only the simplest of the engine improvements that methanol makes feasible would

still contribute to an immediate lessening of urban air pollution.
1) incorporating 2) penetrating 3) conceding 4) disabusing
72 16- In 1887, an ingenious experiment performed by Albert Micheison and Edward Morley severely

.......... classical physics by failing to confirm the existence of “ether,” a ghostly massless medium that was
thought to permeate the universe.

1) predetermined 2) reiterated 3) undermined 4) presaged
72 17- Though not known for her .......... , the principle allowed the students’ misconduct to go unpunished.
1) candor 2) leniency 3) severity 4) punctuality
72 18- If you look inside of most classrooms, you will not see chalkboards because they are nearly ..........

in education today.
1) neutral 2) transient 3) obsolete 4) invaluable

72 19- Although computers can .......... people’s ability to communicate, computer games are a cause of

underdeveloped communication skills in children.

1) enhance 2) duplicate 3) disclose 4) anticipate
72 20- After his boss praised him for his work on the big project, Sam felt it was an .......... time to ask for
a promotion.

1) arbitrary 2) apparent 3) ambitious 4) auspicious
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